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3.2 A L"AP Cos-Law

AP2 L'A2+L'PE - 2. (L'A).(L’P) .Cos
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Cos i = L'A2 + L'p2 - AP2 = - 3.10
2 L'A.L'P
\
All'a
L’A = 1 1 3.11
Cos
L'P2 = H2+aX2+a¥Y2 e 3.12
A AOP
AP2 = (Xp - XA)2 + (Yp - Ya)z2
XA = XL + LA
= XL + HHTlan
Wa = \n
AP2 = ((X,-Xt) - H.Tan )2 + (YA-YL)2

Z
= (AX - H.Tan )2 + aY2
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Cos = Cos 1 (H + aX.Tan @)
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= Cos a (Cos ' + Sin 8 .aX)
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3.3 A PRS
Tan ¢ = PR
RS
A PRQ
PR = PQ . Cos '
(x_ - X). Cos S
Xp - XA =  AX - H.Tan
PR = (AX - H.Tan ') Cos
RS = AQ = Yp - VY1
RS = ayY
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Tan C = (aX - H.Tan ') Cos

aY
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aX’ = LW = LV + W
= LV +pPv Sin 1
= aX + (aY - AX.Tan 1) sin r
Cos r
= aX(l - Sin2r ) + aY.Sin r.Cos r
Cos
aX" = aX.Cos r + AY.Sinr = .19
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A PVW
aY’ = PW = PV.Cos r
= (aY - AX.Tah pD.cos T
aY = aY.Cos f - AX.Sin + - 3.20
C-tf C-
r
Cos = Cos (Cos + Sin AXT)
H
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Tan C = (AX' - H.Tan -).Cos
aY’
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Cos = Cos O0.(Cos g+sin ,(ax.cos T + AY.SIinT ))
H
-------- 3.23
Tan C = ((aX.Cos T + AY.Sin T) - H.Tan ).Cos

aY¥.cos t - AX.Sin r
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3.6 A L’LA
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y H2 + aX’2 + aY’'2
V = Arctan aX' - (90 + S 3.30
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?2( 3.19 3.20 3.29 3.30
3.4 "1 aX2 + a¥Y2 = aX'2 + a¥Y'2

"1 H-V T

H = Arcsin aY.Cos T - AX.Sin T

J H2 + AX2 + aY2

v = Arctan aX.Cos v + AY.Sin T - (90 + )
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Eav = ( 1/4 Ec + 1/2 Eb + Ei )

( 1/4 Ne + 1/2 Nb + Ni )

Emin / Eav
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